Dividing Whole Numbers by a Powers of Ten

Name: Class:

Solve the following problems.

21 + 100 = 4o 10 =
7 = 10 = 300 + 1,000 =
180 + 1,000 = 120 + 100 = 60 + 100 =
3 = 10 = 55 + 1,000 = 36 + 100 =
104 + 100 = 33 + 100 = 16 + 1,000 =
230 + 1,000 = 22 =+ 10 = 19 + 10 =
14 + 10 = 400 + 1,000 = 310 + 100 =
320 + 100 = 550 + 100 = 650 + 1,000 =
340 + 1,000 = 164 = 10 = 111 =+ 10 =
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Answers

Solve the following problems.

21

180 =

104 -

230 =

14 -

320 =

340 =

100 = 0.21
10 = 0.7
1,000 = 0.18
10 = 0.3
100 1.04
1,000 = 0.23
10 1.4
100 = 3.2
1,000 = 0.34

300
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copyright:

: 10=04
+ 1,000 = 0.3
+ 100 = 1.2
+ 1,000 = 0.055
100 = 0.33
s 10=22
+ 1,000 = 0.4
+ 100 = 5.5
+ 10 =164
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60 =

36 =

16 =

19 -

310 =

650 -

111

100 =

100 =

1,000 =

10 =

100 =

1,000 =

10 =

0.6

0.36

0.016

1.9

3.1

0.65

11.1



